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R  200 
O  

R 0 
 

R  V % 

1 3,9 23,6 220 1500 0,72 0,35 100 90 
2 37 260 220 3000 0,039 0,018 90 80 
3 16 85 220 1500 0,088 0,044 80 70 
4 20 121 220 1500 0,091 0,037 110 60 
5 50 262 220 3000 0,082 0,009 120 50 
6 25 134 220 1500 0,059 0,028 60 40 
7 35 190 220 1000 0,05 0,018 50 30 
8 63 335 220 1500 0,019 0,01 40 20 
9 45 236 220 1000 0,015 0,014 35 110 
10 60 314 220 1000 0,02 0,009 55 10 
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 1 5,9 35,8 
2 10,3 37,8 
3 0,56 133 
4 3,1 40,5 
5 1,4 77 
6 0,3 168 
7 12 32 
8 1,6 67 
9 7,0 48 
10 2,7 52 

 %  

100 100 
90 103 
80 108 
70 112 
60 120 
50 132 
40 153 
30 190 
20 280 
15 360 
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1 7,5 380 14,9 2900 2,8 2 
2 4 380 8,3 1450 2 1,5 
3 3 440 7,4 955 2,5 2 
4 7,5 440 16 715 1,7 1,2 
5 55 380 116 590 1,8 1 
6 10 440 25 950 1,8 1,2 
7 15 380 29,3 1465 2,3 1,4 
8 22 380 55 1440 2 1,2 
9 5,5 440 12,2 965 2,5 2 

10 17 380 34 720 1,7 1,1 
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1 1,2 
2 0,73 
3 0,18 
4 3,6 
5 2,1 
6 1,8 
7 4,7 
8 1,0 
9 4,6 

10 0,9 
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21R1.25 RU
R1 + R2 -
1,25 

F
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D
d (

 1 2 3 4 5 6 7 8 9 10 
F 14 62 70 25 40 10 30 63 80 50 
m 5 3 6 4 3 3 5 3 6 5 
D 0,2 0.21 0,42 0,3 0,28 0,15 0,18 0.2 0,25 0,4 
d 0,012 0,015 0,018 0,015 0,011 0,01 0,01 0,016 0,018 0,017 

 0,84 0,75 0,81 0,74 0,69 0,82 0,83 0,75 0,7 0,8 

- 0,15 
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